1.
2.
3.

TAY

WIRE SPACING TABLE
COMBINATION WOVEN WIRE & BARBED WIRE FENCE BARBED WIRE FENCE
48" [12001FENCE HE IGHT 51" [1280] FENCE HEIGHT 48" [1200] FENCE HEIGHT
32" [813] WW-2 BW % 32" [813] WH-3 BW * 39" [990] WW-2 BW % 3 BW 4 8w 5 BW 6 BW
TYPE F2-32WW C813WW] TYPE F3-32WW [813WW] TYPE F2-39WW [990WW] TYPE F3 TYPE F4 TYPE F5 TYPE F6
E—e—
_—— —_— 5" [125]
. e
8" [200] 6" [150] 3" [80]
3" [80] ) 12" [300] 12" [300] 12" 13003
s —_——— u | 4
4" [100] 3" [80] 7" (1801 6" [400]
. . . .
6" [150] 6" [150] 6" [150] 12" 3007 12 1300] 8" [200]
5 1/2" [140] 5 1/2" (140 5 1/2" [140) °
16" [400] 8" [200]
5" 01251 5" 01251 5" 01253 1" 13001 10" 12501 | ——F—
4 1/2" [115] 4 172" [115] 4 172" (115] || ——ed—— 8" [200]
4" 1100 4" 1100 4" 1100 ——— . ———
. 8" [200] .
3 172" 1903 3 172" [90] 3 172" 1903 16" [4001 12 [300) 6" 1501
;e ;e ;e
AWZWZAN WAWA /NVANWVA WAWY
APPROXIMATE WEIGHT OF 32" [8131WOVEN WIRE FABRIC (832-6-12 1/2) PER APPROXIMATE WEIGHT OF 33" [9901WOVEN WIRE FABRIC (933-6-12 1/2) PER
20 ROD [100 mIROLL IS 150 LB. [68 kgl*10 LB. [5 kgl (NOTE: 12 1/2 GAUGE) 20 ROD [100 mIROLL IS 170 LB. [77 kgl*10 LB. [5 kgl (NOTE: 12 1/2 GAUGE)
oDENOTES STAPLE AND/OR TIE LOCATIONS

% OTHER WOVEN WIRE HEIGHTS AND NUMBER OF BARBED WIRE COMBINATIONS ARE AVAILABLE.

USE WIRE STAYS ON ALL FENCES UNLESS WOOD STAYS ARE SPECIFIED.
LOCATE STAYS HALFWAY BETWEEN LINE POSTS.
WIRE STAYS FOR BARBED WIRE FENCING ARE 2" [50] LONGER THAN THE DISTANCE BETWEEN

THE TOP AND BOTTOM WIRES.

FOR WOVEN WIRE FENCING WITH BARBED WIRE ON TOP, EXTEND WIRE STAYS 6" [150]

MINIMUM BELOW THE TOP OF THE WOVEN WIRE.

2"

WHEN WOOD STAYS ARE SPECIFIED, USE EITHER 2" [50] ROUND, A ROUGH DIMENSION
[50 x 50], OR A 1 1/2" x 3 1/2" [37.5 x 87.5] (NOMINAL 2" x 4" [50 x 1001).

THE STAY MUST BE OF SUFFICIENT LENGTH TO BE PLACED ON THE GROUND WITH THE TOP

OF THE STAY EXTENDING 2" [501ABOVE THE TOP WIRE.

ATTACH EACH WIRE TO THE WOOD

STAYS USING | 3/4" [441x 9 GAUGE STAPLES. WOOD STAYS DO NOT NEED TO BE TREATED.

NOTES:

(D STAPLE THE BOTTOM, TOP, CENTER AND ALTERNATE WIRES OF
WOVEN WIRE TO WOOD LINE POSTS.

@TIE THE BOTTOM, TOP, CENTER AND ALTERNATE WIRES OF WOVEN
WIRE TO STEEL LINE POSTS.

@ STAPLE ALL WIRES OF WOVEN WIRE TO WOOD CORNER POSTS OR
POSTS USED TO TIE-OFF WIRE.

@ "M" DENOTES METAL POSTS, IE. TYPE F3M.
"W" DENQTES WQOD POSTS, IE. TYPE F4Ww.

® SEE DTL. DWG. NO. 607-05, 607-10, AND 607-15 FOR
ADDITIONAL FENCING DETAILS.

DETAILED DRAWING

§TEFERR%NSCPIEC DWG. NO.

ANDA .

SECTION 607 607-00
FARM FENCE

UNITS SHOWN IN BRACKETS [1 ARE EFFECTIVE: SEPTEMBER 2014

METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

WMONTANA DEPART MENT

OF TRANSPORT AT ION




WILDLIFE FRIENDLY FENCE

|
12"
! 3001 ‘ ‘ ‘ ‘
0 0 i i 0 A
| : T b | ‘ : |
i ; T4 T ] ; 11 ; I ; ;
Ll Il BARBED WIRE J/ Ll BARBED WIRE Ll BARBED WIRE Ll Ll
T T (TYPE 1 & 4) B T (TYPE 2 & 5) T (TYPE 3 & 6)- T T
WIRE SPACING TABLE
WILDLIFE-FRIENDLY FARM FENCE TYPE 1 & 4 WILDLIFE-FRIENDLY FARM FENCE TYPE 2 & 5 WILDLIFE-FRIENDLY FARM FENCE TYPE 3 & 6
42" [1050]1 FENCE HEIGHT 42" [10501 FENCE HEIGHT 42" [10501 FENCE HEIGHT
WF-2 BW/2 SW-16 & WF-2 BW/2 SW-12 WF-3 BW/1 SW-16 & WF-3 BW/1 SW-12 WF-4 BW-16 & WF-4 BW-12
TYPE WF4-SBBS-16 & TYPE WF4-SBBS-12 TYPE WF4-3BS-16 & TYPE WF4-3BS-12 TYPE WF4-4B-16 & TYPE WF4-4B-12
SMOOTH WIRE
(12 1/2 GAUGE +——>——e1———
12" [3001] BARBED WIRE 12" [300] 12" [3001]
(12 1/2 GAUGE +| BARBED WIRE
BARBED WIRE ——
(12 172 GAUGE% A A {12 172 GAUGE A
SMOOTH WIRE A SMOOTH WIRE A A
(12 1/2 GAUGE +——————s- (12 1/2 GAUGE y——»———e-]
B B B
oDENQTES STAPLE AND/OR TIE LOCATIONS
BOTTOM WIRE HEIGHT
WIRE SPACING
TYPE 1 2 3 4 5 6
A 7" [175] 7U01751 | 7" [1751] 9" [2251 | 9" (2251 | 9" [(225]
B 16" [4001 | 16"[4001 | 16" [4001 | 12" [3001 [12" [3001 |12" [300]
DETAILED DRAWING
SRTEFERRIE)NSCPIEc DWG. NO.
ANDA . _
SECTION 607 607-01

NOTES:

@ "M" DENOTES METAL POSTS, IE. TYPE WF4M.
"W" DENOTES WQOD POSTS, IE. TYPE WF4W.

(@ SEE DTL. DWG. NO. 607-05, 607-10, AND 607-15
FOR ADDITIONAL FENCING DETAILS.

UNITS SHOWN IN BRACKETS (1 ARE

WILDLIFE FRIENDLY FENCE

METRIC AND ARE IN MILLIMETERS (mm}

EFFECTIVE: SEPTEMBER 2014

UNLESS OTHER UNITS ARE SHOWN.

MDT*

MONTANA DEPART MENT
OF TRANSPORT AT ION




6" [152] HOOKS WITH STAPLES

3/4" DIA. x 10"
IM20 x 2541
BOLT HOOKS 16" -0" [4800) 46" 113501
_ i i 3'-4" (10001 s L/ _
)/, 3(‘ AL e e e e s N 7 T ‘
[ Z\/%X | ;;r\kg C S =SS SUSCSCSCSCSSCSC ST ST ~__ "\ [
i ‘ A [SEaC St A~ S S S S ‘
j —~ / (o I A A A A A A A j
>< m ZSN\G
}‘ }M }\ 8" [2001 1" x 6" \\} ‘}
il il 25 X 1501 I
- Iy ) SLAT (TYP. ) i L
i i i ]
| 8 -3" (25001 | 1 172" x 16" [40 x 4003 | 8 -3" 2500 8'-0" [2400]
‘ ! WROUGHT STEEL STRAP w oo
HINGES BOLTED TO GATE 3'-6" [1050]
WITH 3 3/8" DIA. x 3 1/2"
(86 DIA. x 90]
GALVANIZED CARRIAGE BOLTS
WOOD FARM ENTRANCE GATE (TYPE G-1)
NOTE: USE 10d NAILS AND CLINCH FOR GATE CONSTRUCTION.
16'-0" [48003 2 1/2" DIA. x 4'-3"
7 172" 11957 S [62.5 DIA. X 12801STAY TIED TO
INSTALL GATE CLOSURE LATCH N A
AS SHOWN, OR ALTERNATE DEVICE [1535] [1535) [1535] OF 3 CAUGE SMOOTH WRE . . (1350
AS APPROVED BY THE PROJECT MANAGER——\ | ‘
N n TNy n ni Wiy N
AL
/) T ‘ ‘ % T ‘
I, I~ _—\ \ I —\ \
| |
§§§Z %§§§Z§§% i ?3§§
|
N I 2" DIA. x 3'-8" Il N
U 1 | (50 DIA. x 11001 I \ L
| | OF 9 | AW]
s sony | Chuce 2 1/2m o xae3 o 6 0" (24001
| | SMOOTH [62.5 DIA. x 12801 |
WIRE 3'-6" [10501
WIRE FARM ENTRANCE GATE (TYPE G-2) NOTE:
USE SAME WIRE SCHEME ON GATE
AS THAT USED ON FENCE, UNLESS
STATED OTHERWISE IN R/W AGREEMENT.
1" -4" [400] x NO. 2 ELECTRICALLY 16' -0" (48001 7/8" DIA. x 10"
WELDED TWIST LINK CHAIN M22 x 2541
SECURELY STAPLED TO POST U- CHANNEL 4 -0" BOLT HOOKS 4'-6" [1350]
| O VERTICAL MEMBERS {12003 |
0 7 < N L 0]
. Vi % . N 2N/ A\ .
| | |
1 = 1
| | | |
| I I ALL CROSS BARS MITERED AND H H L
U i I WELDED SOLID il i L
i i i i
‘ - ‘ 2" [50] DIA. GALVANIZED OR ‘ o F—\" g g
| 8'-3" [2500] | PAINTED STEEL TUBE (TYP.) 1 8'-3" [2500] | 8'-0" 124001
3'-6" [10501
METAL FARM ENTRANCE GATE (TYPE G-3)
NOTES:
DETAILED DRAWING
(DALL GATES ARE 16'-0" [4B00] WIDE UNLESS R/W REFERENCE DWG. NO.
AGREEMENT STATES OTHERWISE. STANDARD SPEC. 607-02
SECTION 607

@ ALL GATES WILL HAVE A SINGLE OR DOUBLE

PANEL AT EACH END.

@TYPE G-3 GATES ARE AVAILABLE IN WIDTHS
[0.6 m]

FROM 4" [1.2 m] TO 2
INCREMENTS.

0

(6.0 m]l IN 2'

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

FARM ENTRANCE
GATES

EFFECTIVE: SEPTEMBER 2014

MDT*

MONTANA DEPART MENT
OF TRANSPORT AT ION




METAL LINE POST

WOOD LINE POST

WIRE BRACING TWISTED

DIRECTION OF PULL

7'-0" x 4" [2100 X 100] MIN. ROUND WIRE STAY
OR 4" [1001SQ. SAWN 6" [1501
N L 1l Il ] ! R
o Yool iy
a-6 1 = ! 7 S| ! ! =Z_ =11 |4 e
. _gw| 113501 4.8 N\l a-e
SoiE 7-0"| 11350 1NN \ 11 g o \ \ | |03501 |40 g
21001 12400)
NS 7 2 -6k W%’xﬂ} I * g * KA * /3 E/, Wﬁ) ’_;7&\“777/7 I * N y 4,_'3. 6" (24001
(7501 1 }M }M \\} (10501 g g 1 “} e “} (10501
‘ ! | ! -3 - ! !
- ‘ ‘H * Lt (25001 | Lt
‘ | 8 -3" [2500] | 8'-3" [25001 ; ‘ . WOOD SINGLE
I e -6 | \ | \ \ PANEL \
| ,[50001 | WOOD DOUBLE PANEL i 16" -6" (50001 [16'-6" [5000]] 8'-3" [2500] |
T T T T 1
) 8' -3" [2500] ‘ 6'-0" [1850] 6'-0" [1850]
\
) 1) A
BRACE RAIL '\LAIENTEALPOST 1"-0" I[308]
- - 4" [100JROUND OR - - SEE DETAIL SEE DETAIL
SEE DETAIL "A" OR "B 4" 1100150, SAWN ‘ 8' -3" [2500] ‘ 8' -3" [2500] ‘ b (3001 b3
~ — - — — 3 ME TAL I
) S LINE POST ME TAL Q
DO NOT INTER- q ] LINE POST =
WEAVE WIRE AT 4 -6" . >
POINT OF CROSSING [1350] © SEE DETAIL
3" [75] ¢ Coon N 7 N 7| ~77
1l LEVERS q 8 B LEVERS L LEVERS q Y T Y ﬁ
r\vT 7 S (24001 ~— F afls ~~77 4 -0" Con
wooD POSTS- WOOD POSTS- 5 -6" . 5 -6 oo
8 -0" x 5 36 36" 80" % 5" v 8 (14200 (12003 3.o01 10" -0" [3050] 48" [1420) 8" 114200 112000 Jeody 10' -0" [3050]
[2400 x 1251 ROUND 10501 [10501 [2400 x 1251 e @ BN
OR 5" [12515Q. SAWN ROUND OR @
- - - — 5" [125150. SAWN u_y U v
SINGLE WOOD PANEL DOUBLE WOOD PANEL DOUBLE STEEL PANEL SINGLE STEEL PANEL
FOR PULLING, STRETCHING, CHANGES IN FOR CORNERS, PULLING, STRETCHING,
VERTICAL ALIGNMENT OR PANELS ON A AND CHANGES IN HORIZONTAL ALIGNMENT.
RUN OF LESS THAN 330' [100 ml.
FENCE PANEL CAP OR PLUG AS CAP OR PLUG AS
APPROVED BY APPROVED BY
PROJECT MANAGER PROJECT MANAGER
WHEN SQUARE POSTS ARE
USED, NOTCHING IS NOT
NECESSARY. T TOP WIRE BRACE BANDS TOP WIRE
7" [1751PILOT HOLE BRACE BANDS / J LOCATION / FT/LOCATION
] 4" [1001PILOT HOLE 37 oq"
NAIL TQ POST £80-1001 3"-q"
WITH 4 ~ 20d 12" [3001SPKE U — t80-1001
NOTCH 1" GALV. NAILS. CTN— =4 POSTS ARE NOT NOTCHED. > (@) |
[251 TYPICAL — | ~N PILOT HOLE DIAMETER
\ — / IS 5/16" [7.91.
~
\\L
9 GAUGE 7 FURNISH AND INSTALL
STAPLE BRACE WIRES AND LEVERS
IN ACCORDANCE WITH NOTES
ON DETAIL "A".
L] | FLATTEN APPROXIMATELY 1 1/2" OF BOTH
DETAIL "A" . " B ) ENDS OF THE BRACE RAILS AND DRILL/PUNCH v
ve 1Al A DRIVE 12" x 3/8" [300 x 9.5] INSTALL A 20" x 3/8" [500 x 9.5] A HOLE IN THE FLATTENED PART FOR THE
BRACE WIRES - PROVIDE MINIMUM 12 |/2 GAUGE SMOOTH WIRE 1001 NTO BRACE POST. SETTING THE BRACES. PN THE BRACES 3/8° BOLT
DOUBLED TO FORM A FOUR WIRE BRACE. ATTACH BRACE WIRES TO . DETAIL "B" N PLACE FROM THE OUTSIDE DETAIL "C" DETAIL "D"
POSTS BY WRAPPING AROUND THE POST AT LEAST TWO TIMES AND S — . _ =aL -
THEN WRAPPING AROUND ITSELF FIVE TIMES. ALTERNATE PANEL BRACING STEEL POST DOUBLE PANEL BRACING STEEL POST SINGLE PANEL BRACING

LEVERS -

1 172" x 2" x 12"
LEAVE IN PLACE AFTER TWISTING

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

[37.5 x 50 x 300IMINIMUM SIZE.

NOTES:

@SEE THE SPECIFICATIONS FOR POST AND WIRE REQUIREMENTS.

@2 172"

[65] DIA.

NOMINAL STEEL PIPE-

SCHEDULE 40 OR BETTER

@LINE POST SPACING IS 16' -6" [50001CENTER TO CENTER. LINE POST

SPACING FROM BRACE OR PANEL POST IS 16'-6"

CENTER.

SEE DTL.
@ DETALS.

[50001CENTER TO

® 1 1/2" [401DIA. NOMINAL STEEL PIPE-

SCHEDULE 40 OR BETTER

DWG. NO. 607-00, 607-10 AND 607-15 FOR ADDITIONAL FENCING

3/8" X 1 172"
[10 X 37.5] GALV.
CARRIAGE BOLT
AND FLANGE NUT

BRACE BAND DETAIL

FOR STEEL PANELS
(SEE SUB SECTION 712.01.5.)

DETAILED DRAWING

ANDA .
SECTION 607 607-05

FENCE DETAILS

-REVISED--

EFFECTIVE: SEPTEMBER 2014

JANUARY 2018

MONTANA DEPART MENT
OF TRANSPORTAT ION




|

SINGLE PANEL
(END OF RUN)

DOUBLE PANEL DOUBLE PANEL

L

DOUBLE PANEL
(END OF RUN)

|

| |
B | ‘
— = ==

FENCE RUN = L
TYPE REQUIRED SINGLE PANEL SINGLE PANEL SINGLE PANEL
LESS THAN 33' NONE (END OF RUN)
COMBINATION 33" - 330° SINGLE
WOVEN/BARBED OVER 330'
T0 DOUBLE
660" MAX.
LESS THAN 66' NONE
66' -660" SINGLE
BARBED OVER 660"
TO DOUBLE
990" MAX.
TIE OFF PQINT
FENCE RUN = L PANELS
TYPE (m) REQUIRED
LESS THAN 10 NONE
COMBINATION 10 - 100 SINGLE
WOVEN/BARBED OVER 100
T0 DOUBLE SELECT PANEL TYPE AT FENCE
200 MAX. CORNER OR ANGLE BREAK BASED
LESS THAN 20 NONE ON FENCE RUN LENGTH.
20 - 200 SINGLE
BARBED GVER 200 FENCE PANEL TYPES
300 UAX DOUBLE @LIMIT RUN LENGTHS IN POOR SOIL
: CONDITIONS TO REDUCE RESULTING
TENSION AT CORNER OR ANGLE
BREAK PANELS.
@ TIE OFF ON ALL CROSS HATCHED
OR SHADED POSTS.
NOTES:

@ATTACH BARBED WIRES TQ POSTS BY WRAPPING AROUND
THE POST AT LEAST TWO TIMES, THEN WRAPPING
AROUND ITSELF FIVE TIMES.

@ TO ATTACH WOVEN WIRE TO AN END POST, REMOVE
TWO OR THREE VERTICAL STAY WIRES FROM THE END
OF THE FENCE. PLACE THE FIRST COMPLETE VERTICAL
STAY WIRE AGAINST THE POST. START AT THE MIDDLE
OF THE HORIZONTAL LINE WIRES, WRAPPING AROUND
THE END POST AT LEAST TWO TIMES AND THEN WRAPPING
AROUND ITSELF FIVE TIMES.

@ PLACE ALL FENCE WIRE ON PASTURE SIDE OF POST, EXCEPT
ON CURVES. THEN, PLACE THE WIRE ON THE OUTSIDE OF THE
CURVE.

@ IN AREAS SUBJECT TO HIGH VELOCITY WINDS AND MOVING DEBRIS,
WIRES MAY BE PLACED ON WINDWARD SIDE OF POSTS, EXCEPT ON CURVES.

(®POST SPACING IS GENERALLY MEASURED PARALLEL TO GROUND.

®PLACE WIRE STAYS PER DTL. DWG. NO. 607-00 HALFWAY BETWEEN POSTS.
DO NOT PLACE STAYS ON PANELS.

@ WOOD FENCE HAS ONE METAL POST IN PLACE OF A WOODEN

LINE POST IN EACH 500" [150 m] RUN FOR LIGHTNING PROTECTION. UNITS SHOWN IN BRACKETS [1 ARE

METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

DETAILED DRAWING

ANDA .
SECTION 607 607-10

FENCE DETAILS

EFFECTIVE: SEPTEMBER 2014

MONTANA DEPART MENT
OF TRANSPORT AT ION




% ONE FOOT OFFSET APPLIES TO
INTERSTATE FENCING ONLY.

1" -0" [300] 1'-0" [3001% R/W LINE
; R/W LINE ' | \
_ :

R/W FENCE E

DOUBLE
PANEL [

DOUBLE PANEL
SINGLE PANEL

SECURELY FASTEN WING FENCE
TO PIPE BY !'," DIA. EYE BOLTS
OR OTHER APPROVED METHOD.

DOUBLE PANEL
SINGLE PANEL

R/W

LOCATE PANELS SO THAT

R/W WIDTH| & SURVEY ANIMALS CANNQOT PASS .
v - T T [ R

(VARIABLE)

FENCE LAYOUT AT STOCKPASS, BRIDGES AND LARGE PIPES

SLOPE MUST BE STEEP ENOUGH TO DETER
PASSAGE OF TRESPASSERS. < L 20" (3007
/ R/W LINE

FENCE LAYOUT ON STEEP SLOPES X ——

FENCE LAYOUT AT
SECTION A-A CHANGE IN_R/W WIDTH ON_INTERSTATE

R/W FENCE
/ R

COMBINATION WOVEN s -
& BARBED WIRE o= S B
= < = - COMBINATION WOVEN i N € LANES
7 N KX & BARBED WIRE . .
PANEL PANEL i FENCE UNDER STRUCTURE
BEHIND BRIDGE BENTS

- I S - & LANES

i~
MINIMUM OF 10 BARBED WIRES \

WING CATTLE
GUARD

PANEL

T
7 NZZNZ A BSSZ 4 N4 \

f SPACED ABOUT SAME AS
HORIZONTAL WIRE ON COMBINATION

/ ™ R/W FENCE
—— X,

FENCE LAYOUT AT LOCAL ROAD

FENCE LAYOUT ON SHARP VERTICAL CURVES
UNDER INTERSTATE

TO AVOID TRYING TO CONFORM WOVEN WIRE TO UNEVEN TERRAIN

FENCE CONNECTION TQ CATTLE GUARD

(DPLACE SINGLE OR DOUBLE PANELS AT EACH
END OF ALL CATTLE GUARDS.

@ SECURELY FASTEN FENCE WIRE TO THE WINGS
AND ARRANGE SO THAT ANIMALS CANNOT PASS.

CROSS FENCE
SINGLE OR DOUBLE PANEL

THREE STRANDS OF

R/W FENCE METAL LINE POSTS DRIVEN INTO
[ [ 9 GAUGE WIRE TIED
—=S Y GROUND AT LEAST THREE FEET [900] ARGUND ALL WIRES
AND AROUND THE
JUNCTION OF THE
FENCE LAYOUT AT CROSS-FENCE CONNECTION ALTERNATE DEADMAN METAL POSTS

WHEN APPROVED BY THE PROJECT MANAGER THE ABOVE

DEADMAN MAY BE USED.

A DEADMAN MAY BE A PRECAST CONCRETE BLOCK, A CAST IN DETAILED DRAWING

PLACE CONCRETE BLOCK, A ROCK OR OTHER APPROVED OBJECT STinbas SFEc ors. N

WEIGHING AT LEAST 150 LB. BURY THE DEADMAN IN THE GROUND 2ECTION 607 607-15

WITH AT LEAST 2'-0" OF COVER. ATTACH THE DEADMAN TO
THE FENCE WITH 3 STRANDS OF 9 GAUGE WIRE OR 6 STRANDS OF
12 1/2 GAUGE WIRE.

FENCE DETAILS

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm) EFFECTIVE: SEPTEMBER 2014

UNLESS OTHER UNITS ARE SHOWN.
MONTANA DEPART MENT
OF TRANSPORTAT ION




UPSLOPE FENCE LAYOUT AT CORRUGATED STEEL PIPE

1'-0" [3001%

R/W LINE\

SINGLE PANEL SINGLE PANEL

10'-6" [32001]
MAX RAIL LENGTH

4'-6" [1370]
MAX SPACING

6" [150]1 DIA POSTS

% ONE FOOT OFFSET APPLIES TO
INTERSTATE FENCING ONLY.

ADJUST LENGTH TO
REACH ABOVE INLET
ON INSLOPE

NOTE: ALL POLES, POSTS, RALS, OR
WOOD ITEMS WILL BE TREATED

(CSP)

STOCKPASS

4" [102] DIAMETER POLE

6" [150]1 MIN OVERLAP

ATATAD

) _(8" [200] MAX SPACING

2'-6" [760]

X-SEC VIEW

AT POINTS OF CONTACT WITH POSTS, NOTCH RAILS
TO A DEPTH OF 2" [501 MIN.

ONE 6" [150] RINGED NAIL

RAIL NOTCHING

7'-0" [21301

ATTACH RAILS TO POSTS USING

FENCE LAYOUT FOR REINFORCED CONCRETE BOX (RCB) STOCKPASS

R/W LINE\

\
1'-0" [3001% |
i

SINGLE PANEL SINGLE PANEL

AT POINTS OF CONTACT WITH POSTS, NOTCH RAILS
TO A DEPTH OF 2" [50] MIN.

ATTACH RAILS TO POSTS USING

ONE 6" [150]1 RINGED NAL
10°-6" [3200]
MAX RAIL LENGTH CUT RALLING TO MATCH RAIL NOTCHING
4'-6" 13701 SLOPE OF RCB INLET
MAX SPACING
4'-0" (12201
APPROACH SPACING 4" [102] DIAMETER POLE
) 6" [1501 MIN OVERLAP
4>‘ h
% ONE FOOT OFFSET APPLIES TO \ A ' T . ki i ]
" ] Ll_!—
INTERSTATE FENCING ONLY. ! 6" 11501 DI POSTS 1 = ) 8" [200] MAX SPACING
\ T T 2 I —
TT = o [ C .
! T [T ——— 7 7'-0" [2130]
\
2'-6" [7601
/\V DETAILED DRAWING
i - REFERENCE DWG. NO.
STANDARD SPEC. _
X-SEC VIEW SECTION 607 60717
FENCE DETAILS
NOTE: ALL POLES, POSTS, RALLS, OR UNITS SHOWN IN BRACKETS (1 ARE
WOOD ITEMS WILL BE TREATED METRIC AND ARE IN MILLIMETERS (mm) |EFFECTIVE: _JANUARY 2018

UNLESS OTHER UNITS ARE SHOWN.

MDT*

MONTANA DEPART MENT
OF TRANSPORTAT ION




MDT R/W

o, o o ., 0o ., OO @ OO Q , O i O
PASTURE ‘
S oo | o QO , o
// 18" [450]
MDT R/W @ n‘ )
O 17 (@) 4 |
" [450]
PASTURE o
TREATED 2X6'S
50 x 1501 j
MDT R/W
o , o , o , oW
PASTURE 41/»
SEE NOTE(D
@)
@)
+ 7/
[190]
@) - —_ ]

NOTES:

SPAN TREATED 2X6'S [50 x 150] ACROSS GAP ON PASTURE SIDE OF POSTS.

ATTACH TO PANEL POSTS WITH TwO 3"

EXTERIOR GRADE SCREWS ON EACH

END AND TRIM EDGES AT 45 DEGREE ANGLES.

@INSTALL PANELS ACCORDING TO DETAIL DRAWING 607-05.

@INSTALL NON- INTERSTATE FENCE ON THE RIGHT-OF-WAY LINE AS SHOWN.,

Q) OFFSET PANEL POSTS 18" [450mm] FROM STAKED R/W BREAKS AND

R/W MONUMENTS AS SHOWN IN DETAIL.

@ DO NOT DISTURB SURVEY MONUMENTS.

(® INCLUDE COST OF 2 x 6 [50 x 1501 CROSS RAILS IN THE COST OF

ADJACENT PANELS.

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

DETAILED DRAWING

§FFERR%NSCP%C DWG. NO.
ANDA . -
SECTION 607 607-20
FENCING AT
RIGHT OF WAY
BREAKS
--REVISED-- | EFFECTIVE: SEPTEMBER 2014
JULY 2016

MONTANA DEPART MENT
OF TRANSPORTAT ION




TWISTED OR
KNUCKLED SELVAGE

TOP CABLE
LINE POST \

GATE, END, CORNER
OR PULL POST

CHAIN LINK FABRIC

BLE TURNBUCKLE

CABLE TURNBUCKLE CA
BRACE K o c_,%STRETCHER BAR[TOP CABLE
f 23000 %

35

REGULAR BRACE BAND ®

CORNER, END

OR BRACE POST
STRETCHER BAR%

BRACE BAND @

TENSION BANDS FOR
STRETCHER BAR. PLACE
AT TOP AND BOTTOM

OF STRETCHER BAR
WITH 12" [305]C.C.
MAX. SPACING
VERTICALLY ®

\@

TURNBUCKLE
(EYE AND EYE)
FOR TOP CABLE
AND BOTTOM
TENSION WIRE

RING FASTENER
AT 18" [460]
SPACING

HORIZONTALLY

! AAANAA

AAAN

FABRIC SELVAGE ®

EYE TOP POST CAP©

//%X(/*fBRACE BAND @

]

BRACE RAIL
END CAP

H
1 FABRIC R
H BAND = RXRES
L %t
S OB " g N S S
TENSION WIRE KNUCKLED SELVAGE j|j4 TRUSS ROD il {|f=— 12" (3001 ROUND
' 1] D <] |4 D 0| %l SECT. D
1 10" [250] ROUND [ 12" [300] ROUND I . 10" [250] ROUND
SECT. o SECT. Z 7 SECT.
10" -0" 10" -0" 10" -0"
[30001 [30001 [30001
, \
CHAIN LINK FENCE - 6" [1.8 m] AND 8" [2.4 m] SINGLE PANEL
TOP CABLE
CABLE CABLE AS SPECIFIED ) CABLE
TURNBUCKLES TURNBUCKLE ‘ TURNBUCKLE
\ q FABRIC BAND
He 2 {2 = I AT
P O e IR e S S S
LINE POST O o e B e KRR
K R R A TR R e R
oo e s Lot otate s oottt tototes ([ | s tototines Sototetetetotet or Ssteteted
S R0 OSBRI ISR
S R K | IR ISIREIBRESIIRLKY]
SO KGIKRRICRK K IIEL XXX XK XXX XY OSOCRKITRICRK L KHKCHKICKHKKK e
SRR OO o So% 0s0s daterenstososasess ] || Sototetetetetete? oze  Sotetetitotototets! | ITT BSssititetitited;
SRS TRUSS ROD e Al I S RS [RS8
R SRR % o RIS TS
SIS | 2020500 e St o oot ottt atodedi | |11 Sesetetesototolete
= LRSS IR TR XXX
2%

SO
B
SRS
LR
S
S

e
10" (2501 D
ROUND
SECTION

SECTION FOR
CORNER

DOUBLE PANEL
PULL POST AND CORNER POST BRACING

%
2
DAL
DL
LR,

7 SIS L

LEHEE” 10" (2501
ROUND

e
SECTION

L%
LK
2

Z
i

END PULL POST
CABLE TURNBUCKLE

END POST*\ FABRIC BAND

CORNER POST

STRETCHER

12" [3001 ROUND

S
£

e

J

R

\
S
RS
o
0.0
RS
o
0.0
RS

et SRR

18" [450]
D CHAIN LINK
FABRIC

TRUSS RODS J/

12" [300] ROUND
SECT.

NOTE:

NO CONCRETE BLOCK REQUIRED

FOR SINGLE GATE. GATE

LATCHES DIRECTLY TO POST.

GATES
STRETCHER BAR

ANCHOR L INE PULL CABLE TURNBUCKLES
POST POST

e

LINE POST CHAIN L INK TOP CABLE KNUCKLED ANCHOR L INE
FABRIC [ SELVAGE POST
H

TURNBUCKLE 11— rension . TURNBLCK KNUCKLED RON STRAP
D Ik WIRE IRON || ngai?%;ﬁ; SELVAGE 0 ON S
. . STRAP .
12" 13001 ROUND — )} 12" (3001 ROUND
SECT. > 12" [3001 ROUND SECT
o 10" [2501 ROUND SECT. SECT. | 10" -0"
10'-0 (TYP. WHEN POSTS 10°-0 -
[30001 SET IN CONC. ) [30001 [3000]
CHAIN LINK FENCE - 3' [0.9 ml. 4' [1.2 m]1AND 5' [1.5 m]

NOTES:

(DO NOT INSTALL DOUBLE PANELS MORE THAN 300' [90 m] APART ON

TANGENTS OR MORE THAN 250

CURVES WITH RADII SHARPER THAN 1150"

[75 m] APART ON ANY CURVE.

[350 ml], INSTALL A DOUBLE

PANEL ON EACH CURVE END, PLUS ONE ADDITIONAL PANEL

FOR EACH 10°
THE CURVE ENDS.

OF DEFLECTION, EVENLY SPACED,

BETWEEN

FOR

@PULL POST BRACING ON 6' [1.8 m] AND 8' [2.4 m] FENCE IS THE

SAME AS CORNER BRACING.

@ A DROP BAR LOCKING DEVICE IS REQUIRED
INSTALLATIONS.  THE DROP BAR MUST BE

FOR ALL DOUBLE GATE
ABLE TO BE INSERTED

INTO THE CONCRETE BLOCK AT LEAST SIX INCHES [1501.

HEIGHT WIRE FABRIC DEPTH OF DEPTH OF POST
OF FABRIC,H | ABOVE GROUND CONCRETE, D | IN CONC. (MIN. )

8' [2440] 1"-2" [25-50] 42" [1050] 38" [950]

6" [1830] 1"-2" [25-50] 36" [900] 32" [800]

5" [1525] 1"-2" [25-50] 36" [900] 32" [800]

4' [1220] 1"-2" [25-50] 30" [750] 26" [650]

3' [915] 1"-2" [25-50] 30" [750] 26" [650]

(@ ALL CONCRETE IS LEAN OR BETTER.

(® INSTALL A 3/8" [10IDIAMETER GALVANIZED STEEL
TOP CABLE ALONG ALL FENCE.

TERMINATE

TOP CABLE WITH GALVANIZED CABLE
TURNBUCKLES FASTENED VIA THE FABRIC
BAND AT THE POST.

BRACE BAND @

BRACE BAND @

TRUSS ROD
WITH TENSIONING
DEVICE ®

FASTEN FABRIC TO LINE
POSTS AT TOP AND

BOTTOM OF FENCE WITH
14" (3601 C.C. SPACING
VERTICALLY ALONG POST

LINE POST

e v OV A YA YA NNV

FABRIC SELVAGE

(SEE DETAIL AND NOTE)(® e )
RING FASTENER 7 | ~
AT 24" [610) : A~
SPACING
HORIZONTALL Y

CONNECTION DETAILS
GENERAL NOTES
PROVIDE CHAIN LINK FENCE MATERIALS PER SECTION 712. ©POST CAPS: PROVIDE EYE-TOP CAPS FOR ALL POSTS

(® EABRIC_SELVAGE: FENCE HEIGHT UNDER 6' (1.8 ml:
TOP AND BOTTOM KNUCKLED SELVAGE.

FENCE HEIGHT 6" [1.8 m]AND OVER:
TOP - TWISTED OR KNUCKLED SELVAGE
BOTTOM - KNUCKLED SELVAGE

TWISTED
SELVAGE KNUCKLED

SELVAGE

VA TAI

® TRUSS RODS: SEE SECTION 712.01.4

INDUSTRIAL TRUSS TIGHTENER TURNBUCKLE

® IENSION BANDS:

CARRYING A TOP CABLE THROUGH THE POST.
PROVIDE ROUNDED TOPS FOR ALL OTHER ROUND
POSTS.
REMOVAL.

(© BRACE_BANDS:

FIT POST CA

C

RA

SEE SECTION 712.01.5.

SEE SECTION 712.01.5

PS TIGHTLY TO PREVENT

AN TAI

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

DETAILED DRAWING

REFERENCE DWG. NO.
ANDA . -
SECTION 607 607-25

CHAIN LINK FENCE

--REVISED- - EFFECTIVE: SEPTEMBER 2014

JULY 2016

MONTANA DEPART MENT
OF TRANSPORTAT ION




3/4" [19.05] DIA. HOLES (TYP.)
1" (25, 47—}~ 3/4" [19.05] — 1 1/2" [38.1] 4»&1" [25. 41
PANEL LENGTH = 16'-0" [4876. 81 {/ 3/4" [19. OEv]jv —{|=—1 1/2" [38.1] —{=—1" [25.4]
2'-3" 2'-3" 2'-3" [ e o
1685.8] 5'-9" [1752.6) ‘ 5'-9" [1752.6) | [685.8] 1685.8] U2t 03811 Q Tf' — - !
¢ " 2 1"-3 172"
‘ ‘ 1 1/2" (38.1] 5'-5" [1651]
[393. 71
/XCH e PE BR i I !
[N ‘ (7 SLOPE BRACE . I N s e .
NG ‘ ‘ 8'-0" [2438. 4]
TR N FASTENING (WHEN 3/4" [19.05] DIA. (393. 73 \
6" [152.4] (TYP.) T | m Q ~~ t . '\ REQUIRED) ” BN HOLES (TYP.)
6" [152.4]1 (TYP.) N BRACE | @sie
| M NI > 0 NENEGHEY it I b NN
H H (TYPICAL) H H
f U i T
| i NN a NN = @sea | i 1 172" [38.13
I Ny [[] FasteEnnG I 1172 138,11
T T[T - - T T
3" (76. 2] (. i NN NN [GN L aveo || i
3" [76.2] MIN. —f l‘l‘ ” ~ ” H 3/4" [19. 05)
N w NI I M I il 374" [19. 051
H SLOPE_BRACE \(®) [‘[ (®BRACE DN [‘H ||‘l‘ —~
[ i (WHEN REQUIRED)\ "\, FASTENING P ‘ I e 5 38" 0136, 5251 : :;g gg. H
3'-6" [1066. 8] I N (TYPICAL) AN A (@FRAME TO FRAME \¥/¢ PREVAIL ING '
| H ) i ~ ] #11 FASTENING V WIND
L i N - it ® FRAME \ X
2520 %
Uiy A AN T e L R AN AN s AN e e © 3/4" 119,051 DIA.
i / N p \ / N J 52¢ 30' HOLES (TYP.)
o | ‘ﬁ / \ 4 N N 4 A 1
Il
(914. 41 ﬁ\ | B ANCHOR SYSTEM #1
I | S5 (SEE DTL. DWG. NO. .
ﬁ\ | U 607-40 FOR DETAILS) 520 30" g
| 1" [25. 4]
"=L\%; - = 1" [25. 4]
LINE POST (B) | Lo ® % B “
gﬁﬁw % . (1520
FRONT VIEW @gﬁ.ALMEFATsoTsmwc E\H 3/4" [19.05]
07 1, Ly 3/4" [19.05]
(D ANCHOR SYSTEM #1 EE‘IM Eﬁ%
(SEE DTL. DWG. NO. =M=
60740 For DETANS) " ©FRAME
END VIEW
LUMBER - 8' [2.4 ml] SNOW FENCE W/ ANCHOR SYSTEM #I
CENERAL NOTES HARDWARE - 8' [2.4 m] SNOW FENCE W/ ANCHOR SYSTEM #!
BILL OF MATERIALS FOR ONE PANEL
(D ANCHOR SYSTEM DETAIL ITEM NO. OF LUMBER DESCRIPTION BILL OF MATERIALS FOR ONE PANEL
USE ANCHOR SYSTEM #1 UNLESS SOIL AND MOISTURE CONDITIONS NECESSITATE THE USE NO. PIECES SIZE
OF AN ALTERNATE SYSTEM, OR AS DIRECTED BY THE PROJECT MANAGER. CONSULT DETAILED QUANTITY DESCRIPTION
DRAWING NUMBERS 607-40 AND 607-45 FOR ANCHOR SYSTEMS #3 (ROCKY CONDITIONS) ®* 3 2" x 6" x 8 -0 FRAME (SILL)
AND #2 (SWAMPY CONDITIONS). [50 x 150 x 2438.4] 0) 18 5/8" DIA. x 5" [MI6 x 1271 HEX BOLT
(THREADED FULL LENGTH) AND NUT
(@) SLAT FASTENING - - — ~— (X NOTE:
FASTEN SLATS TO THE FRAME WITH 3 ~ 12d COMMON BARBED SHANK NAILS AT EACH ®* 3 2" x 6" x 16 FRAME AFTER 5/8" DIA. [M16] BOLTS
LOCATION. (50 x 150 x 2286.0] @ 36 FLAT WASHER FOR 5/8" DIA. [MI16] BOLT HAVE BEEN TIGHTENED, BURR
(3 BRACE FASTENING THE THREAD DIRECTLY BEHIND
FASTEN BRACES TO THE FRAME WITH 4 ~ 8d COMMON NAILS AT EACH LOCATION AND ©* 3 2" x 6" x 8 -6" FRAME (D| ! LB [0.45 ko) | 12d COMMON BARBED SHANK NAL Lo SENING B TEENT EVENTUAL
CLINCH. {50 x 150 x 2590. 8] ® 12 #6 REBAR x 5'-0" [#19 x 1524] ’
FRAME TO SILL AND FRAME TO FRAME FASTENING “on
@FASTEN THE SILL AND FRAME MEMBERS TO THE FRAME AT EACH LOCATION WITH 2 ~ % NOTE: PRESSURE TREAT ALL 2" x 6" [50 x 1501 MEMBERS ® 6 PIECES 12 GAUGE TIE WRE x 5 -0 C1524.01*
5/8 " DIA. x 5" (ML x 127ISTANDARD MACHINE BOLTS, EACH WITH HEX NUT AND TWO FLAT (ENTIRE FRAME ) @] 173 L. 10.15 ka1 | 8d COMMON NAILS
WASHERS.  SEE NOTE (X) AT RIGHT. i
1 1" x 6" x 16'-0" BRACE
®LnE PosTs © o5 S e, @] 174 LB. 10.11 kgl | 16d COMMON BARBED SHANK NAILS
PLACE LINE POSTS AT EACH END OF EACH LINE OF SNOW FENCE AS SHOWN. POSTS
P LA ol Wt e VR S P cL A e A AV ALL NAILS MAY BE EITHER HAND DRIVEN OR DRIVEN WITH A PNEUMATIC NAILER.
DIAMETER OF 6" [152.4). BUTT TREAT 3' [914.4] MINIMUM. ® 8 1" x 6" x 16'-0" SLAT
[25 x 150 x 4876. 8]
®WRE TE DETAILED DRAWING
USE 12 GAUGE OR HEAVIER GALVANIZED WIRE TO FORM THE WIRE TIES. ®** " > %6 % 10 o SLOPE BRACE REFERENCE DWG. NO.
(D) SLOPE BRACE FASTENING {50 x 150 x 3048.0] S eNDARD o EC 607-30
FASTEN SLOPE BRACES WITH 3 ~ 16d COMMON BARBED SHANK NAILS AT EACH LOCATION.
%% NOTE: USE ONLY WHEN SLOPE IS 5: 1 OR STEEPER 8" [2.4 m] WOOD SNOW FENCE

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

W/ ANCHOR SYSTEM #1

EFFECTIVE: SEPTEMBER 2014

MONTANA DEPART MENT
OF TRANSPORTAT ION




1" [25. 41—

374" [19.05] DIA, HOLES (TYP.)

374" [19.05] DIA.
HOLES (TYP.)

0"
gg@:z Ay

" [M16] DIA. BOLTS
TIGHTENED, BURR

THE THREAD DIRECTLY BEHIND
THE NUT TO PREVENT EVENTUAL

OF THE NUTS.

DETAILED DRAWING

DWG. NO.
607-35

12" [3.6 m] WOOD SNOW
FENCE W/
ANCHOR SYSTEM #1

PANEL LENGTH = 16' -0" [4876. 8] ~ 1 1/2* 138,17 DA 30" 3/4" [19.05] — 1 1/2" (38.11 - 1 1/2" (38 +’+I" [25. 4]
. : 374" [19.05] ~—1 1/2" [38.11 =—1 1/2" [38.1] 1" [25.4)
2'-3" ‘ 5'-9" [1752.6] ‘ 5'-9" [1752.6] 2 -3 2'-3" 11727 138.1] 11. *1;} ’u j |
6" [152.41 (TYP.) 1685. 81 ‘ ‘ 1685. 81 1685. 81 ‘ Tt z z =
4'-11" [1498.6) 5'-0" [1524]
12" (304. 81 (®) G OsLat “ I 1 e l }
T @\SLOPE BRACE A{AN (TYPICAL) [ Il t330. 21 12 0" [3657.61 L
| (WHEN REOUIRED ) N i I i ' | ; " t304. 83
[[\&\ 1 [ @ SILL
l ”H H‘ H‘ I ‘H 3/4" [19.05] DIA
| [\ O\ BRACE [\ \ ! I | HoLEs (TvPy
1] N 1] I i
[ N\ N\ N 11 N\ N\ 11 [ 112" 138, 11— » 127 30
| I i |~ @sLAT | I 1 172" 138,11
[l N\ N\ S N\ N\ [J]__FAsTENING [l
| il NN | N—— 1| — il ‘ 172 3813
3/4" [19.05]1 DIA. .
| M N ! I M HOLES (TYP.) P12 s
: : AN AN T - >7: AN AN I:: : T @
AV AY 1 \ AY 1 I "
| i ————————— /i el 11 I == 12 08 ¢
R " 38, 1] .
Iy T\ 1] <\ \ | h 172" [38.1
3" 176,21 — [~ W U ® BACK BRACE il N g I BH i 172" 138.1] PREVAIL ING
3" 76,21 MN. 1l AN || Nl > 3 oo - o
[ Bl T ®BRACE PN I Bl ~ : 3/4" [19.05] 52730
[ N\ [[[[__FASTENING ZaN\L [ 74 3/4" 119.05] ®
[ il (D SLOPE BRACE I avypicakr—~ AR I ! ‘ 5 3,8" [136.525] ® BRACE 1 172" [38.1]
3'-8" |H FASTENING (WHEN \ ][ N\ e 5 316" [131.7631 1 1/2" 138.1]
L. 83 || [ REQURED) gty BN <A | ‘ (@ BACK BRACE |}
! FASTENING pe- SO
1'-6" [457.2] © FRAME N © (TYPICAL )
FRAME °
} } TR/ W U i lrlnlrlnlnlnlnly /LW LRl el n Ly, L e X Ll i L L /// U \\\%ﬁ%% \
/ N J N J \
1 \ / \ / \ / )
\
914. 41| Ly | (D ANCHOR SYSTEM #1
N (SEE DTL. DWG. NO. NOTE: "
5‘ | 607-40 FOR DETAILS) PLAGEMENT OF REBAR ANCHORS 750 \\ 1" [25. 41
ﬂ,:; TIGHT ACAINST SNOW FENCE @ 1" [25. 4
LINE POST MEMBERS (A) @ls CRITICAL
® T0 PREVENT URNING AND 4 ® L
FRONT VIEW SLIDING.  SEE ANCHOR SYSTEM #I AN @ ﬁ 3/4" [19.05]
DETAILS, DTL. DWG. NO. 607-40. m @ | m 3/4" [19.05]
] R
DIG OUT AS REQUIRED FOR ENDS OF MEMBERS (B) @ AND
THE ENTIRE LENGTH OF SILL () TO ASSURE FULL BEARWNG OF SILL
\ AGAINST TERRAIN.
LUMBER - 12" [3.6 m] SNOW FENCE W/ ANCHOR SYSTEM #i E
END VIEW
BILL OF MATERIALS FOR ONE PANEL -
ITEM NO. OF LUMBER
DESCRIPTION
GENERAL NOTES NO. PIECES SIZE
* 3 2" x 6" x 12'-0" SILL \
@ ANCHOR SYSTEM DETAL ® (50 » 150 x 3657, €] HARDWARE - 12' [3.6 m] SNOW FENCE W/ ANCHOR SYSTEM I
USE ANCHOR SYSTEM #1 UNLESS SOIL AND MOISTURE CONDITIONS NECESSITATE THE USE
OF AN ALTERNATE SYSTEM, OR AS DIRECTED BY THE PROJECT MANAGER. CONSULT DETAILED o 3 7 o x T o FRAVE BILL OF MATERIALS FOR ONE PANEL
DRAWING NUMBERS 607-40 AND 607-45 FOR ANCHOR SYSTEMS #3 (ROCKY CONDITIONS) 56 x 150 % 2133 63
AND #2 (SWAMPY CONDITIONS). x x : QUANTITY DESCRIPTION
(@ SLAT FASTENING . . o . .
N * 3 2" x 6" x 13'-0 FRAME @ 30 5/8" DIA. x 5" [MI6 x 1271 HEX BOLT ~— ) NOTE:
ESE;%:\IONSLATS TO THE FRAME WITH 3 ~ 12d COMMON BARBED SHANK NAILS AT EACH © (50 w150 x 3962, 47 UTHREADED FULL LENGTH) AND NUT AFTER 5/8"
. HAVE BEEN
(3 BRACE FASTENING . . o .
FASTEN BRACES TO THE FRAME WITH 4 ~ 8d COMMON NAILS AT EACH LOCATION AND Ok 3 o 80 ey FRAME @ 60 FLAT WASHER FOR 5/8" DIA. [MI6] BOLT
) x 150 x 3962.4] LOOSENING
- ® | 172 LB. [0.23 kgl | 8d COMMON NALLS
FRAME TO SILL AND FRAME TO FRAME FASTENING
@ FASTEN THE SILL AND FRAME MEMBERS TO THE FRAME AT EACH LOCATION WITH 2 ~ * NOTE: PRESSURE TREAT ALL 2" x 6" [50 x 1501 MEMBERS (ENTIRE FRAME) @ |! 2/3 LB. [0.76 kgl| 129 COMMON BARBED SHANK NAILS
5/8" DIA. x 5" [MI6 x 1271STANDARD MACHINE BOLTS, EACH WITH HEX NUT AND TWO FLAT
AN Gl NOTE®AT mioHm @ | R TE——— ROk BRACE @ | 1/2 LB. [0.23 kgl | 160 COMMON BARBED SHANK NAILS
® LINE POSTS 150 x 100 x 3657.6] ©) 12 # REBAR x 5'-0" [#19 x 1524]
PLACE LINE POSTS AT EACH END OF EACH LINE OF SNOW FENCE AS SHOWN. POSTS -
ARE 6'-6" [1981.2ILONG WITH A MINMUM DIAMETER OF 3" [76.2]AND A MAXIMUM ® | e %18 o BRACE ® 6 PIECES 12 GAUGE TIE WIRE x 5°-0" [1524.01*
DIAMETER OF 6" [152.41. BUTT TREAT 3" [914. 41MINIMUM. [25 x 150 x 5486. 4] ALL NAILS MAY BE EITHER HAND DRIVEN OR DRIVEN WITH A PNEUMATIC NAILER.
® WRE TE
USE 12 GAUGE OR HEAVIER GALVANIZED WIRE TO FORM THE WIRE TIES. ® 2 " %6 x 16 -0 <LAT REFERENCE
(D BACK & SLOPE BRACE FASTENING [25 x 150 x 4876.8) STANDARD SPEC.
FASTEN BACK BRACES TO THE FRAME WITH 2 ~ 16d NAILS, AND FASTEN THE SLOPE
BRACES WITH 3 ~ 16d BARBED SHANK NAILS AT EACH LOCATION. @ 2 2 % 6" % 13 -0 SLOPE BRACE
(® 12" [304. 81INCREMENT SPACING FROM TOPS OF EACH SLAT (50 x 150 x 3362. 4] VErrie s ane on e Al
" METRIC AND ARE IN MILLIMETERS (mm)
(E. 12" [304.8], 24" [609.6], 36" [314.41). UNLESS OTHER UNITS ARE SHOWN.
#% NOTE: USE ONLY WHEN SLOPE IS 5:1 OR STEEPER EFFECTIVE: SEPTEMBER 2014

MDT4

MONTANA DEPART MENT
OF TRANSPORTAT ION




ANCHOR SYSTEM #3

m,“r_ (FOR ROCKY CONDITIONS) LEFT ‘ : RIGHT
wn END 1 | I END 1
i i T 7
W 3 176,21+ |~ h ! R
\
W 3" [76.2] MIN, | = |M |H|| N
i M | i Wi :
\ i ‘m |
| I
#6 [#19] REBAR (CENTER \ v
SUPPORT ONLY) 30° \ - m
\ 3 -6 Il
[1066. 8] T
SEE DETAIL M SEE DETAL N oo
[/ = T | SEE NOTE O
S e 5/8" DIA. [M16] BOLT,
el 1"-0" [304.83 |\ g NaSHERS (TYP. )
= . | ! 1 .
| i Il
- [ TS #6 [#19] REBAR (CENTER
In B SUPPORT ONLY) SEE DETAIL H
} 1 3 -0"
i e [914. 43
" I .
3'°-0 I 8" [203.21DIA. x 3'-0" [914. 4]
(914. 41 g CLASS GENERAL CONCRETE ANCHOR
L POURED IN PLACE
> 1
oy .t
LEFT END VIEW FRONT VIEW
NOTE:
HOLES SHOWN IN DETAILS BELOW ARE FOR LEFT END OF FENCE.
HOLES SHOWN HIDDEN ARE FOR RIGHT END OF FENCE.
5" % 3" x 3/8 " x 5 L . A LUMBER - SNOW FENCE W/ ANCHOR SYSTEM #3
(127 x 76.2 x 9.525 x 127 L] 1/2" [12.7] EXPOSED THREAD SlLALME [~—— FRAME BILL OF MATERIALS FOR ONE PANEL
. DOUBLE NUTTED W/ WASHER
3/4" [19.05] DIA. HOLE d IS SILL
%FOR 5/8" IM16d DIA. BOLT J S SAME AS FOR SNOW FENCE W/ ANCHOR SYSTEM #I
7 — 2 WRAPS WITH
=i %\ 1'-0" 12 GAUGE TIE WRE
| |
6‘/ Gg “ \ " SoIL BACKFILLﬁ%{,V ! [304. 81 o ree) +
5 1 1/2 5n | 172 GALVANIZE TOP 1'-6" [457.21 [ || HARDWARE - SNOW FENCE W/ ANCHOR SYSTEM #3
11271 ) oy [38. 11 (127 N @ [38.1] OF ANCHOR BAR (MIN. ) e ‘
N o N 2 5/8" DIA. x 4' -0 E : BILL OF MATERIALS FOR ONE PANEL
1 \ (50. 87 i (50. 8 IMI6 x 1219.2] BAR el L L iy
T ‘i‘ T W/ 4" [101.61 OF THREAD - -0" - - QUANTITY DESCRIPTION
3/8" [9.525] 3/8" [9.525] (ASTM A 307 GRADE A) (] [914 4]
i 3/8" . CONCRETE ANCHOR . . 4 5" x 3" x 3/8 " x 5" L [127 x 76.2 x 9.525 x 127.0 L]
3/8" [9.525] 1 1/2" [38.11] [25. 4] (POURED IN PLACE) 1"-3" [381] £
. 3 ‘ ‘ (9.5251 ‘ - & wezgmogl [%%%A%] 4 5/8" DIA. x 4'-0" [M16 X 1219.21BAR W/ 3 HEX NUTS
I I X - . —
. 4 FLAT WASHERS FOR 5/8" [I IA. BAR
3" L ‘ 3" [76.2] L ‘ L%s,, N L SHERS FOR 5/8" [161 D B
[76.21 152. 0.16 C.Y. CLASS GENERAL CONCRETE
@\ 1 ve 28,575 /’@ 1 /8" 28,575 3" (203.21 —L Note: o152 e
272 1,20 . : : USE ON FRONT AND BACK
3/4" [19.05] DIA. 2 172 172 OF CENTER SUPPORT. 4 #6 [#19) REBAR x 2'-0" [609.6] (3/4" [19.05] DIA. )
[63 51|063.5] HOLE FOR 5/8" [63. 5]‘[63 5] DETAIL L DETAIL H
[15.8751 DIA. BAR _— e o
5" (1271 5 [1277 4 PIECES 12 GAUGE TIE WIRE x 2'-0" [609.6] ¢
30 5/8" DIA. x 5" [MI6 x 1271 HEX BOLT &éEE NOTE
(THREADED FULL LENGTH) AND NUT BELOW
DETAIL M DETAIL N
60 FLAT WASHERS FOR 5/8" [M16] DIA. BOLT
NOTE: NAILS REQUIRED ARE SAME AS SHOWN ON HARDWARE
ANCHOR SYSTEM #1 SUMMARY FOR SNOW FENCE W/ ANCHOR SYSTEM #I
(STANDARD) 1'-6" MAX. [457.21/ 30°30° NQOTE:
— (D AFTER 5/8" [MI6]1 DIA. BOLTS HAVE BEEN TIGHTENED,
WIRE TIE (SEE DETAIL) BURR THE THREAD DIRECTLY BEHIND THE NUT
STEP | STEP 2 STEP 3 2" x 8" [50 x 1501 SILL 1'-3" [381.0] TO PREVENT EVENTUAL LOOSENING OF THE NUTS.
[203 21| MAX.
MAX. GROUND L INE
WRAP FIRST 5 LAPS OF £
FIRST 5 LAPS OF WIRE 3'-6" [1066.8]1 MIN.
WIRE AROUND REBAR WRAP SECOND 5 LAPS OF
WRAPPED AROUND REBAR — WIRE AROUND FIRST 5 LAPS NOTE:
o —————— WHEN FASTENING STANDARD
t--=-=== o UNBER RAPS u0| 6 : REBAR ANCHORS, MAKE SURE
THEY ARE TIGHT AGAINST SILL
EQUAL LENGTHS OF WIRE ON GROUND LINE ~ us tmsl TO PREVENT MOVEMENT AND
EITHER SIDE OF THE REBAR _ REBAR SAWING ACTION BY WIND.
WHEN STARTING THE TIE. Vi AN x 5'-0" [1524.0] BETAILED DRAWING
USE TWO #6 [#19IREINFORCING BARS FOR EACH END OF EACH REFERENCE DWG. NO.
TOP FRONT SIDE SILL MEMBER. DRIVE THE BARS UP TIGHT TO THE FRAME STANDARD SPEC. 607-40
TO PREVENT SLIDING. TIE THE REINFORCING BARS AS SHOWN SECTION 607
IN THE WIRE TIE DETAIL. THE PLACEMENT OF THE ANCHORS
IS CRITICAL IN PREVENTING OVERTURNING AND SLIDING OF WOOD SNOW FENCE
WIRE TIE DETAIL THE FENCE. REFERENCE DETAIL DRAWING 607-35 FOR MORE DETAILS. ANCHOR SYSTEM #3
USE 12 GAUGE OR HEAVIER GALVANIZED AND #! DETAILS
WIRE TO FORM THE WIRE TIES. STANDARD ANCHOR DETAIL UNITS SHOWN IN BRACKETS () ARE
METRIC AND ARE IN MILLIMETERS (mm) EFFECTIVE: SEPTEMBER 2014
UNLESS OTHER UNITS ARE SHOWN.
MONT ANA DEPARTMENT
m OF TRANSPORTAT ION




ANCHOR SYSTEM #2
(FOR SWAMPY CONDITIONS)

LEFT
o I i = T
3 151~ i = o

I I
3 (7S IMN, =] |~ L 1] 1 L
T | L ! OO ! || i
! ‘ SN o
Hl ,H )
LR [ ‘\ H_‘\
| i i "
o i il 1SN
| i if U]
SEE DETALL K SEE DETAIL J SEE see NOTE (1)
> DETAIL | 5/8" [MI61DIA. BOLT, HEX p
T NUT & WASHERS (TYP.) e e
NSRS | see  Unim SEE DETAIL | UL L L UL IR W | Ll
DETAIL | i~ #6 [#19]REBAR (SEE
DETAIL H) o
3o , SEE DETAIL H TRENCH 8" [200]
- . -0 3 -0" WIDE FOR LAYING
WRAP 3/8" [9.525] DIA. WIRE ROPE AROUND
9001 & [1501DIA. DEADMAN, RETURN. AND CLAMP [900] 9001 CABLE (TYPICAL)
WITH 2 ~ 3/8" [9.525] WIRE ROPE CLIPS (END
OF FIRST AND LAST PANEL ONLY) 3/8" [9.525] DIA. WIRE ROPE \ WARAP
, o o 6" [1501DIA. x 5 -0" [1500] [ ]
3'-0" [900] 3'-0" [900] DEADMAN 3/4" [191DIA. HOLE A .
. I Smm— 6" [1501DIA. x 5'-0" [1500] FIRST AND LAST PANELS FOR 3/8" [9.525] /‘ -0t | v-iot |
DEADMAN REQUIRE TWO ADDITIONAL DIA. WIRE ROPE (TYP.) 15601 | [5601
DEADMEN AND HARDWARE.
LEFT END VIEW FRONT VIEW
NOTE:
HOLES SHOWN IN DETAILS BELOW ARE FOR LEFT END OF FENCE.
HOLES SHOWN HIDDEN ARE FOR RIGHT END OF FENCE. FRAVE 172" 112,71 EXPOSED THREADS
SILL _
5/8" [15.8751DIA. HOLE FOR DOUBLE NUTTED
1/2" [12.71DIA. EYE BOLT 2 WRAPS WITH 12 W/ WASHER
GAUGE TIE WIRE 6 [152. 43 o e e
- . . MIN. 5" x x x
r-w — ~— 5’ temn 9" [228.61 * [127 x 76.2 x 9.525 x 127 L]
. 1 1/8"
LUMBER - SNOW FENCE W/ ANCHOR SYSTEM #2 e tze STy 6{ 5 (28. 575 iB . =T IFI-I= e
[76.231 [76. 21 1/2" DIA. x 8" [12.7 x 203.2] DROP
BILL OF MATERIALS FOR ONE PANEL i i FORGED EYE BOLT
I #6 [#19] REBAR R
SAME AS FOR SNOW FENCE W/ ANCHOR SYSTEM #l [ L \ \ L x 2'-0" [609.6] — = 1'-3" (3811 ¢
3/8" [9.525] 3/8" [9.525]
2 172" 2 1/2" 2.1/2" 2 172" DETAIL |
[63.5], [63.5] (3/8.. t9. 5251 [63.5], [63.5] fwa“ (9. 52517 ”SEE‘O ot == AL
u N NT AN
HARDWARE - SNOW FENCE W/ ANCHOR SYSTEM #2 ; e 118 o BACK OF CENTER
1 172" [38.1] . - SUPPORT.
BILL OF MATERIALS FOR ONE 12'([3.6m] PANEL T AN T DETAIL H
) g 5 | 5 (1273 2 ~3/8" [9.525] WIRE ROPE CLIPS
QUANTITY DESCRIPTION 2 3/8" [60.325] [127.01 [76. 21 ‘
4 5" x 3" x 3/8" x 5" L [127 x 76.2 x 9.525 x 127 L] /@‘4\9 3 -0"
|
i [300]
8 3/8" [9.525] WRE CLIPS . \ .
5/16 [7.938]44 3/4" [19.05]DIA. HOLE FOR Lf3/4 [19.05] UNDISTURBED
4 1/2" [12.71 DIA. DROP FORGED EYEBOLTS W/ 3 HEX NUTS 5/16" [7.938) 5/8" [MI6IDIA. BOLT J 3,4 019, 057 EARTH
q FLAT WASHERS FOR 1/2" [12.7] DIA. EYEBOLTS 5" x 3" x 3/8" x 5" L
[127 x 16.2 x 9.525 x 127 L1 DISPLACE AS LITTLE MATERIAL WIRE ROPE CONNECTION
4 #6 [#19] REBAR x 2'-0" [609.6] (3/4" [19.05] DIA.) oy AS POSSIBLE WHEN EXCAVATING
— DETAIL J DETAIL K FOR PLACEMENT OF THE WIRE
4 PIECES 12 GAUGE TIE WIRE x 2'-0" [609.61* . — ROPE.
30 FT. 3/8" [9.525] DIA. WIRE ROPE
[8839. 2] g
PLACE 3'-0" [900]
; FROM EYEBOLT TIE
" [1501 DIA. '-0" [15001 POST DEADMEN -
d 6 [IS07DWA- x5 707 (15003 POST DEADME ~ DnoTe: 6 LS. | DETAILED DRAWING
30 5/8" DIA. x 5" [MI6 x 1271 HEX BOLT AFTER 5/8" [MI6]DIA. BOLTS DE ADMAN REFERENCE DWG. NO.
(THREADED FULL LENGTH) AND NUT HAVE BEEN TIGHTENED, BURR STANDARD SPEC. 607-45
THE THREAD DIRECTLY BEHIND DEADMAN DETAIL SECTION 607
60 FLAT WASHERS FOR 5/8" [M16] BOLT ESESQ“INGTOOFPRTEHVEENNTUTESVENTUA'-
NOTE: NAILS REQUIRED ARE SAME AS SHOWN ON HARDWARE WOOD SNOW FENCE
SUMMARY FOR SNOW FENCE W/ ANCHOR SYSTEM #1 UNITS SHOWN IN BRACKETS [1 ARE ANCHOR SYSTEM #2 DETAILS
METRIC AND ARE IN MILLIMETERS (mm) -
UNLESS OTHER UNITS ARE SHOWN. EFFECTIVE: SEPTEMBER 2014
MONT ANA DEPARTMENT
OF TRANSPORT AT ION




7" [1801DIA.

5" [1251DIA. TREATED
‘/wooo LINE POSTS

16" [4001]
]

TREATED WOOD POSTS

ASTM 2096-12-12 1/2 [12.5IWOVEN
WIRE FENCE FABRIC

SINGLE PANEL
(MIRROR FOR DOUBLE PANEL)

5" [1251DIA. TREATED BRACE RAIL

SEE DETAIL "A" OR "B"
ON DTL. DWG. 607-05

LEVERS

i
|
|

|
| (24001
o

i i 36001

|

=
" %

24" [600]1 I
“

I

ASTM 939-6-12 1/2 [12.5]
WOVEN WIRE FENCE FABRIC

N2

it

i

\TI DIG BARRIER FENCING L‘J
|

NS

15

[4600]

N3 ‘
‘“ . 4" -0"
(12001

15" -0
146003 i

WILDLIFE FENCE W/ DIG BARRIER
PANELS NOT SHOWN

2" [501DIA. PAINTED

SINGLE OR STEEL TUBE (TYP.)

DOUBLE PANEL

(SEE CONTRACT)
6 -0"
[1800]
(TYP.)

7' -6" [2300]

10" [22 DIA.

7/8" DIA. x
/BOLT HOOK (TYP. TOP AND BOTTOM)
| |

AT 10" [2501CENTERS 6" [152]JHOOKS WITH STAPLES

HORIZONTAL TUBES
AT MID HEIGHT

|
T

!
" e i
I 15' -0 I

5 oo i

8 -0"
124003

4" -0
112003

12" -0"
[3600]

H (46001 ; ; (46001 ;
i 1 T

ALL VERTICAL BARS MITERED AND WELDED
CONCRETE DIG BARRIER APRON

EXTEND CONCRETE TO BACK OF FENCE POST

METAL MAINTENANCE ACCESS GATE
CHAIN AND LOCK TO BE SUPPLIED BY MDT FORCES

2" [501DIA. PAINTED 7' -6" [2300]
STEEL TUBE (TYP.) 6" [1521 HOOKS WITH STAPLES
SINGLE OR AT 10" [250] CENTERS 7/8" DIA. x 10" [22 DIA. x

DOUBLE PANEL

SOLID

254]

TOP AND BOTTOM)

BOLT HOOK (TYP.
LATCH‘\
! L-—-—‘

/ GATE CLOSURES

(SEE CONTRACT) \
|

8" -0"
[24001

a4 -0"
[12001

15" -0"

12'-0"
[36001

[4600]

o (46001 o
T 1

ALL VERTICAL BARS MITERED AND WELDED SOLID
CONCRETE DIG BARRIER APRON
EXTEND CONCRETE TO BACK OF FENCE POST

METAL EQUINE GATE

-0" L\J

WILDLIFE FENCE

x 254]

=

SINGLE PANEL SINGLE PANEL

SINGLE PANEL

(END OF RUN)

NOTES:

(D PLACE ALL FENCE WIRE ON PASTURE SIDE OF POST,

L EXCEPT ON CURVES.

FENCE
TYPE

THEN, PLACE THE WIRE ON

‘ THE OUTSIDE OF THE CURVE.

RUN = L

PANELS
REQUIRED -| |

LESS THAN 30'

NONE

SINGLE PANEL

[9.2 m]

WILDLIFE

[9.2

(END OF RUN)

30' -330'
m - 101.2 m]

SINGLE

NOTE:

TIE OFF ON ALL CROSS HATCHED OR

SHADED POSTS.

1/8" x 6" x 1'-10"
[3 x 150 x 5501
GALV. STEEL PLATE.
FASTEN WITH 6 ~ 1/4"
(61 DIA. GALV.

BOLTS WITH NUTS

& LOCK WASHERS
\o i

FENCE PANEL TYPES

N\
— 17" [1801 DIA. WOOD POST
%

~——MORTISE FLAT AREA ON
WOOD POST TO MOUNT
::1] BRACKET HINGE

N [ol T

| A |
=

O U U

TIE BAR MOUNTING DETAIL
FOR GATE CLOSERS

DOUBLE PANEL AT FENCE
CORNER OR ANGLE BREAK

SINGLE PANEL
(END OF RUN)

@ POST SPACING IS GENERALLY MEASURED PARALLEL
TO GROUND.

@ LINE POST SPACING IS 15'-0" [46001CENTER TO
CENTER. LINE POST SPACING FROM BRACE

OR PANEL POST IS 15" -0" [46001CENTER TO

CENTER.

@ TO ATTACH WOVEN WIRE TO AN END POST, REMOVE

END OF THE FENCE.
VERTICAL STAY WIRE AGAINST THE POST.
AT THE MIDDLE OF THE HORIZONTAL LINE WIRES,
WRAPPING AROUND THE END POST AT LEAST TwO

TWO OR THREE VERTICAL STAY WIRES FROM THE

PLACE THE FIRST COMPLETE
START

TIMES AND THEN WRAPPING AROUND ITSELF FIVE

TIMES.

(B A DEADMAN MAY BE A PRECAST CONCRETE BLOCK,

A CAST IN PLACE CONCRETE BLOCK,

A ROCK OR

OTHER APPROVED OBJECT WEIGHING AT LEAST 260 LB.
[120 kgl BURY THE DEADMAN IN THE GROUND WITH AT

LEAST 2'-0"

(6001 OF COVER.

ATTACH THE DEADMAN

TO THE FENCE WITH 3 STRANDS OF 9 GAUGE WIRE OR 6

STRANDS OF
DTL.

12 1/2 [12.5]1 GAUGE WIRE. SEE
DWG. NO. 607-10 FOR ALTERNATE DEADMAN.

(® STAPLE THE BOTTOM, TOP, CENTER AND ALTERNATE
WIRES OF WOVEN WIRE TO WOOD LINE POSTS.

(D STAPLE ALL WIRES OF WOVEN WIRE TO WOOD CORNER
POSTS OR POST USED TO TIE-OFF WIRE.

® PROVIDE LATCH THAT ALLOWS FOR ONE HANDED OPERATION.
RELEASES TO ALLOW GATE TO SWING IN EITHER DIRECTION
AND CAN BE LOCKED.

4" [100IMAX.

VGATE

MATCH EXISTING

6" [150]

SECTION A-A
CENTER CONCRETE DIG BARRIER APRON UNDER CLOSED GATE

UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN.

DETAILED DRAWING

ANDA . _
SECTION 607 607-50

WILDLIFE FENCE

EFFECTIVE: SEPTEMBER 2014

MONTANA DEPART MENT
OF TRANSPORTAT ION




12" [300]
10" [250]
8" [200]

NOTCH JACK LEGS TO A DEPTH

OF APPROXIMATELY ONE-HALF THE
DIA. OF THE LOG. PROVIDE 6" [150]
MIN. DIA. LOG FOR JACK LEG.

SKEW EACH JACK NOTCH AND ENSURE
WIDTH IS APPROX. EQUAL TO LOG DIA.
[150] (ASSEMBLE AS SHOWN)

==
——

6"
MIN.

DRIVE ONE 6" [150] RINGED NAIL

INTO EACH SIDE OF THE JACK THROUGH
NOTCHED JOINT. CLINCH PROTRUDING NAIL
6" [1501 MIN. ENDS AS NEEDED.

—

—
—
 —
| —
—]
—
—
—

3'-4" [1025]

—
—
—
1

—
o
—
|
—

—
—

1

—

F———

—

3

S—

1
N — 6" [150) ==

3 -4" [1025) E— L3" (751 max.

16' -6" [5000]

=

JACK AND WIRE ASSEMBLY

JACK LEG NOTCHING

LINE JACK SPACING

-
NAIL END OF POLE TO NAIL END OF POLE TO
OUTSIDE OF FAR JACK LEG. OUTSIDE OF NEAR JACK LEG.
FASTEN A 5" x 7' _
[125 x 2.1 mlSET POST S ,
TO EVERY 5th JACK. \ =~
_l—_—
L =
~
NOTCHED L]
BRACE POLE
MUD SILLS, USE ON Mm_\
SWAMPY GROUND ONLY. "_’UN[' _—
MUD SILL SET POST BRACE \\\%
8'-3" [2500]
16'-6" [5000]
CONSTRUCT BRACE
NAIL END OF POLE TO EVERY TEN POLE LENGTHS NAIL END OF POLE TO
INSIDE OF FAR JACK LEG. (180" [55 m1) INSIDE OF NEAR JACK LEG.
AT POINTS OF CONTACT WITH JACKS, NOTCH POLES
TO A DEPTH PROVIDING 3" [75] MIN. PENETRATION
OF THE 6" [1501 RINGED NAIL INTQ JACK. BRACED PANEL
18' [5.5 m] UNIFORM LENGTH (3" [75]
DIA. SMALL END) POLES. STRIP OF BARK
ON TOP AND BOTTOM OF POLES. DETAILED DRAWING
REFERENCE DWG. NO.
STANDARD SPEC. _
BRACE POLE NOTCHING SECTION 607 60755
NOTE: ALL POLES, POSTS, RAILS, OR UNITS SHOWN IN BRACKETS [1 ARE
WOOD ITEMS WILL BE TREATED. METRIC AND ARE IN MILLIMETERS (mm)
UNLESS OTHER UNITS ARE SHOWN. JACKLEG WIRE FENCE

EFFECTIVE: SEPTEMBER 2014

MONTANA DEPART MENT
OF TRANSPORTAT ION




NOTCH JACK LEGS TO A DEPTH

OF APPROXIMATELY ONE-HALF THE
DIA. OF THE LOG. PROVIDE 6" [150]
MIN. DIA. LOG FOR JACK LEG.

£3003 SKEW EACH JACK NOTCH AND ENSURE

WIDTH IS APPROX. EQUAL TO LOG DIA.

6" [150] (ASSEMBLE AS SHOWN)
MIN.
24" [600] v DRIVE ONE 6" [150] RINGED NAIL
3'-4 INTO EACH SIDE OF THE JACK THROUGH
(10251 NOTCHED JOINT. CLINCH PROTRUDING
NAIL ENDS AS NEEDED.

6" [150] MIN.

8" [200]

\ > ai%%

g
L3 (757 max. F
JACK LEG NOTCHING Eﬁ‘ﬁlﬁ

-4" [1025]

3

JACK AND POLE ASSEMBLY
8'-3" [2500]
1
16" -6" [50001
1
LINE JACK SPACING
AT POINTS OF CONTACT WITH JACKS, NOTCH POLES
TO A DEPTH PROVIDING 3" [75] MIN. PENETRATION
OF THE 6" [150] RINGED NAIL INTO JACK.
(SEE DETAIL "A")
NAIL END OF POLE TO NAIL END OF POLE TO

QUTSIDE OF NEAR JACK LEG.

18" [5.5 m] UNIFORM LENGTH (3" [75]
DIA. SMALL END) POLES. STRIP OF BARK
ON TOP AND BOTTOM OF POLES.

OUTSIDE OF FAR JACK LEG.

POLE NOTCHING

8'-3" [2500] |
1
16' -6" [5000]
CONSTRUCT BRACE
NAIL END OF POLE TO EVERY TEN POLE LENGTHS NAIL END OF POLE TO
INSIDE OF FAR JACK LEG. (180" [55 ml) INSIDE OF NEAR JACK LEG.
BRACED PANEL
MUD SILLS, USE ON
SWAMPY GROUND ONLY.
TYPICAL POLE NOTCHING AT JACK DETAILED DRAWING
REFERENCE DWG. NO.
WA STANDARD SPEC. _
MUD SILL DETAIL "A" 2ECTION 607 607-60
UNITS SHOWN IN BRACKETS [1 ARE
METRIC AND ARE IN MILLIMETERS (mm)
JACKLEG POLE FENCE

NOTE: ALL POLES, POSTS, RAILS, OR UNLESS OTHER UNITS ARE SHOWN.

WOOD ITEMS WILL BE TREATED.

EFFECTIVE: SEPTEMBER 2014

MONTANA DEPART MENT
OF TRANSPORTAT ION




	607_FENCES
	607-Supp



